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’ 100kN/mM##BZ % 1.00/ 0.00 ~ 046 107.76|3m%#E% 5| 0.00 ~ 0.56| 3.22 14.19| 100kN/m%E# 2z 3 1.00| 22.35 ~ 40.00 107.76|3m%#B% % - ~ 4000 322 1419
Zh st 1.00[046 ~ 7.15 100.00] Zh st | 056 ~ 7.15| 3.00 13.20 ZThLLSE 1.00|] 500 ~ 2235 100.00| Zhlist | 500 ~ 40.00| 3.22 14.19
9 100kN/mM#%#BZ % 1.00/ 000 ~ 092 115.54|3mZEBZD| - ~ = - -| 100kN/MZE#B 2% 1.00| 17.85 ~ 38.92 11554|3m%i#B% % ol ~ = - -
Zh st 1.00[092 ~ 7.60 100.00] #h st | 000 ~ 760 2.85 12.53 Zh LS 1.00|] 500 ~ 17.85 100.00| #h it | 500 ~ 38.92| 285 1253
3 100kN/mM##8Z % 1.00/ 000 ~ 1.07 118.25|3m%#8 %%/ 000 ~ 0.76] 3.32 14.60| 100kN/m%Z#B x5 1.00| 17.24 ~ 46.44 118.25|3m%#8 25| 40.00 ~ 46.44| 3.32 14.60
Zh st 1.00[1.07 ~ 7.76 100.00] #h st |0.76 ~ 7.76] 3.00 13.20 Zh LS 1.00| 500 ~ 17.24 100.00] #hList | 5.00 ~ 40.00] 3.00 13.20
4 100kN/mM#%# 8% % 1.00] 0.00 ~ 147 125.26|3mZ#BZDH| - ~ = = -| 100kN/iZi#8 % % 1.00| 1491 ~ 36.42 125.26|3m%#BZ% =~ = = =
Zh st 1.00[ 147 ~ 815 100.00] #h st | 000 ~ 8.5 295 12.98 Zh LS 1.00| 500 ~ 1491 100.00| Zh it | 500 ~ 36.42| 295 12.98
5 100kN/mM#%# 8% % 1.00{0.00 ~ 1.34 123.06|3mZ#BZDH| - ~ = = -| 100kN/iZi#8 % % 1.00| 14.33 ~ 27.30 123.06|3m%i#BZ% =~ = = =
Zh st 1.00[1.34 ~ 803 100.00] #h st | 000 ~ 8.03| 2.88 12.68 Zh LS 1.00|] 500 ~ 1433 100.00f Zhlist | 500 ~ 27.30] 2.88 12.68
6 100kN/mM#%#BZ % 1.00{0.00 ~ 0.76 112.81|3mZi#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 16.78 ~ 26.00 112.81|3m%i#BZ% =~ = = =
Zh st 1.00[076 ~ 744 100.00] Zh st | 000 ~ 7.44| 278 12.22 Zh LS 1.00|] 500 ~ 16.78 100.00| Zhlist | 500 ~ 26.00] 2.78 12.22
7 100kN/mM#%# 8% % -l -~ = -|3mZz#BzZ| - ~ - - -| 100kN/mZ#8 25 = -~ = -|13m%i#Bz% -~ = = =
Lot 1.00] 0.00 ~ 445 65.26] ZnList | 000 ~ 4.45] 1.92 8.47 Zh st 1.00f 500 ~ 6.77 65.26] ZnList | 500 ~ 6.77| 1.92 8.47
8 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/MZE#BZ % = -~ = -|3m%EiEZ S =~ = = =
ZnLst 1.00{ 0.00 ~ 462 67.75] Zn L4t | 000 ~ 462| 1.88 8.28 Zhn st 1.00f 500 ~ 6.99 67.75] #nLis | 500 ~ 6.99| 1.88 8.28
9 100kN/mM%#EZ % = -~ = -|3m%EEZS -~ = = -| 100kN/ %8z % = -~ = -|3m%EiEZ S =~ = = =
Zrn Lot 1.00] 0.00 ~ 344 50.96| Zn L4t | 0.00 ~ 3.44| 1.95 8.57 st 1.00f 500 ~ 5.00 50.96] Zn Ly | 500 ~ 500 1.95 8.57
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~
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